
2 3 4 5 Toplam

Sınov sırosında hesop makinası kullonılmosı serbest, oncok alışverişi yosoktır. Sorulor 20'şer puondır.

Gerekirse k:|l(4,[eo):9x109 N rt/Cz olarak alııı z. Başarıtar dileriz.

1) A total charge of 0.75 pC is distributed uniformly over a thin, semicircular wire of radius 5.0 cm. What is
the force on a charge of 0.30 pC located at the center of the circle? (k=1/(4zrco)=9x 109 N m2lc2)

Yançapı 5,0 cm olan ince bir yanm-çember üstiine toplam 0,75 pC yiik düzgiin bir şekilde dağılmıştır. Bu

çemberin merkezine konan 0,3O pC'luk bir yfüe etki eden kuwet nedir? (k= 1(4zre6):9x 109 N m2lc2)
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2 ) Two thin concentric spherical shells of radii n and r2 (n < r$ contain uniform 
surface charge densities ax and o2, respectively. (Neglect the thickness of the 
shells). Determine the electric field for 
(a) 0 < r < n, (b) n<r< r2, (c) r > r2. 
(d) Under what conditions will E = 0 for r > r2 ? 
(e) Under what conditions will E = 0 for n r < r2 ? 

if-

Iki ince esmerkezli kiirese! kabuklanp vanca n 'an s i r n c i v l a C . V P »-•> (n < r->) V P v i i k v o & i m h i l r f a n <x. n w <T~ 

dir. (Kabuklann kalinhkianm lhmal ediniz). Venlen arahkiar 19m elektnk alanini hesapiayiz. 
( a ) 0 < r < r ; . (b) n < r <' r->. (c)r> rx 

(d) Hangi ko§uiiar aitinda r > r2, E = 0 oiur? 
(e) Hangi ko^uiiar aitinda vi < v < r2, E = 0 oiur? 
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5) Kalınlığı d ve dielektrik sabiti x olan bir dielektrik tabaka, plaka aralığı D olan paralel plakalı bir

kondansatöriin içine yerleştirilmiştir. Her bir plakwın a|arıı A ise kondansatöriiııı srğasrnı hesaplayrnz.

A dielectrical slab of dielectric constant r and thickness d is placed between the plates of a parallel plate

capacitor with separation D. Ifthe aıea ofeach capacitor is -4, calculate the capacitance ofthis capacitor.
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